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(B) WA KR ENI AT S BEDLEEDESm (F) DM EN - T HBE DL EEDEE(m) %iwwiﬁtfégfﬁi‘ﬂﬁ%%éf_ﬁ@f‘ﬁ& AT TE IR I ZET
(C) BE =k 571 54100kN/ M LU T DK DTS T D 1D B A KN/ ) (Q) HHEE HS3mBL T DR B DHEHED A DB ABRN/m) EMBEEHEEHZRLEFEBHEHICHRRMT
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(A) (B) (©) (D) (E) F) (G) (H) (A) (B) () (D) (E) F) (G) (H)
(1) 148.1 10 99.9 10 - - 15.1 30 148 1 10 100.0 1.0 - - 15.1 30
(2) 146.5 1.0 99.6 1.0 - - 15.0 3.0 146.5 1.0 99.5 1.0 - - 15.0 3.0
( 3) 146.9 1.0 99.8 1.0 - - 15.0 3.0 146.9 1.0 96.5 1.0 - - 15.0 3.0
( 4) 148.3 1.0 99.9 1.0 - - 15.2 3.0 148.3 1.0 96.8 1.0 - - 15.2 3.0
(5) 128.9 1.0 99.6 1.0 - - 11.7 2.3 128.9 1.0 99.7 1.0 - - 11.7 2.3
(6) 143.2 1.0 100.0 1.0 - - 14.7 29 143.2 1.0 100.0 1.0 - - 14.7 29
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